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42.0 km
13.0 km
546.0 km’
2.0 km
yANe} 2.2 Pa
0 1.66>10" N m (2001)
W 6.7 Kanamori (1977)
3 7.1 (1998)
1.03%<10" N m/s*  |A=4Tt(S/T0)Y? AC B?
0a 7.30><10"™ N m 0a=MD;S,
a 120.1 km? S$a=5><22%
a 152 cm D,=2.0><D
Ao, 10.1 Pa Ao, = Nc/0.22
0al 5.93><10" N m gt
a1 87.4 km’ Sa1=5><16%
al 170 cm Da=Moar/ (M Sa1)
Oy 10.1 Pa O.1= AC,
0a2 1.36><10"® N m gt-®
a 32.8 km’ Sa=S>< 6%
a2 104 cm Daz=Moao/ (M S52)
O 10.1 Pa O AC,
ob 9.29=<10" N m b= 0~ o0a
b 425.9 km? Sp=5-S,
b 55 cm Dy=Mon/ (11 Sp)
Oy 2.0 Pa o,=0.2x<A0C,
8 4.0><10" N/m?
76 cm D=Mo/ (l4S)
B 3.5 km/s
R 2.5 km/s Geller(1976)
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